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3 0ooog

31 Dooooooooooolkl

4B

gooboooobbboooobboooobbbooooboboobbboooobobo
gbogbobbobodgbuoobobuodobbodgbbooboobboboobbboon
gboudgbbodgbuogogboobbodboobbuooboooobbooboon
googbobodboooobobodgboboboobobuoobbodobooooboon
gbooooooooon

3.1.1 0d0ogooooo

Dbog3boobobobobooboobodnboboobobbobbOobodn
KDDDDDDDDD N

Doooooooooobviboobbobobooobooooooooooboooo
OOoodbOdbab---eVODOOOOODOOOOOODODODODOO

1.0 (0)a+beVOOOOO a+b=b+a0d000

2. 0000Vad0:a+0=0+a

3. 000000dra+x=0:x=-—a

4. 0000(a+b)+c=a+(b+c)0 (000000000D0)
5. a(a+b)=aa+ab

6. a(fa) = (af)a

7. (a4 f)a=aa+ fa

ODO00D0e,peCOOD00O0ODOOODOOCOO00,peROOOOOOOODO
goooo

‘000000 complex linear spacell

N J

gooboooooobobod ooobobbbooooboboboooobbboboooon

a, €eV0O0O0OD0OO0D000D000VDODODD Y, ma,eV,(yeC)OOOODOOODOO

Y.a, =00, =0000000000000,0000000000000000V

OOoooboboboobooboooobodoboogoviodogonoonooboobooon
0000000 xO00p00000000 {a,}00000

x:inai () :Zmim) (3.1)

Oooboodbooobooboobddd+100booboboboobooboobo


../../����/�Q�_/�x�N�g�����.txt
file:z:/job/����/�Q�_/�x�N�g�����.dvi
file:../../����/�Q�_/�x�N�g�����.dvi#�x�N�g�����
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00000MO0000 a000 [)00OO00200000000000000000
0oo

Note: 0000000000 O0DOODOOOODOOOODOOODOOOOOO 00000
gbutobogobuodgbbodgbooboobboobooboboobbobooboboon
gboobouoooobbodoogon

3.1.2 0OD0O0O040obo

OoobooboboobooooobooboboobooobobooobobobOoD foOoD
goboooon

fooa)y = f(la)) eC (3:2)
00 f00000000
flala) + Blb)) = af(la)) + Bf(]b)) (3:3)
00000000000000000000 f00000000000
) =2 f(1i) (3-4)

gbobobooooboboboooobobboooobbbooooonoon

(f +9)(0)) = f(13)) + g(l43)) (3.5)

oooooooOooooO0o0ouobOOo fOODOOO0ODOODOODOODDOODOOODOOD
OO0 v-oooooobooboooooog eO

ei(|7)) = i (3.6)
doboooooooooooboooooooooooo,oooobooon
ei(-) = (il (3.7)
DDDDDDDDDDDDDDDD(HDDDD
ei(17)) = (il7) = d;; (3.8)

googobobooobogobodbboobooboboobboobboonoboon
OooOobovooooogo

00 0000000000 @G000000 |2)04:00000200000000000
00 0000000 2)0000000000000000000
(o) = (il Y_o?|jy =) _a'(ilj) = ' (3.9)
J J

00000 000000000
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00 00000000000000000000000000000000000000000000
Uob00boobU0 ;0000000000000 0b0000b00o0bo0ooo0ooooobooon
obooboooobooboooboobooooboooooboon

as X ag ag X aj a] X ag

Vv V V

0000000000000V =a;-(agxa3) 00000 {a;,}00000000000O00O0O0O x
ooooooo-0000000b; O

by ; b , b3 (3.10)

bi-ajzéij (3.11)
0000000oUuoUoo0oodk) =a;, (¢l=b;0000000000O00O0OO0OOOOOOO
00 (reciprocal lattice) 0 0 OO
3.1.3 0UUoog

gbbhoooobbobuooobobbooogo
/DDDDDDDD ~

D000 |2)0 ¢YD000000000000 (T € End(V))
T : |z) = |2/) =T|z) (3.12)
gododdooooooooobooobooo
T(ala) + plb)) = oT'a) + ST|b) (3.13)

0000000000000 0000000 000000007000000000
gbooooogon

J
0DOooooDoo
1. 00000000 1000000000000
2. 0000000000000000D000000
T'T|z) = T'|2') = T"|x) (3.14)
D000oD0O0OoooooDoo?T=1"
3.000700000000000000000000 7T-'0000
T =TT"'=1 (3.15)

gogoooo
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314 00000000
0000000000000000000000000000000000000
@) = Tlz) = Y _(Ti))a’ (3.16)

gdd T\i)DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
doooooooooboooooa,
Thi) = 313\ (3.17)
J

gbooooodgooood R
oodooooodoooor;odiboooggooodgoroooogoood
OO00000000 hat"0D000Rat OO0 OO0OO00ODOODOOOOOOOOO

gboobooogodgon
1.gooorr;d0oo0ooodooogoooooodgooooooooood

Tliy = 17 GITI) (3.18)
J
000000000000 )
Ty = (§IT]) (3.19)
0000000000000000000000000000000000000

ooo
0. 0000000000000 00000
3. 0007-'00000070000070000 70000

3.2 UOO0UOoooooodao
000000000 OOO0OoOoOovoooovxV —«cd
V3la),|b) — (la),|b)) eC (3.20)

goooooooooo

l. o, 00000000 (alu), Blv)) = a*B(|lu), |v)

2. 00000000 (Ju), |v)* = (Jv), |u))

3. 0000 ((lu) + |v), [w)) = (Ju), |w)) + (Jv), [w))

4. 00000000(w),|v)>0000000 (jo),v))=0000 [v)=00000
goboooooooooonooogooogd

[1o)I* = (v}, [v)) (3.21)
oooooons®

S00000000 0000000000000 0D0D0O0O00DDO00O0DOOO0O0D0OO0O00n
gboobobooboobobooooobooooboboooobOobooon
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3.2.1 00000

oogoooooo
(), 17)) = 6 (3.22)

00000000000000000O00oooooO (), 0000o0o00o0ooooo
O000000000oooooooo vooooooooooo(eocooooooo
000000000000 0O0ooDoo00)000o,00000ooooooDoooooo

afufufufsls
(il = (I),-) = |5 (3.23)
0000

1. 00oboo

E:WW%J=Z]®M=1 (3.24)
00000000000000
2. 00000000000000 |u,ph)eVOOOOOO
) = wilt)  u) = i) (3.25)

0000000000
(), ) = (ulv) = Zu;“vi (3.26)

ggooood

. 0gboobooboobobobobbobbooboobon

(Ulo), Ulu)) = (Uv|Uu) = (Jo), u)) (3.27)

4. 0000oobobooobobooooboobobuooobboooobbooobboo

gogo
Ul =1 (3.28)
ogoooooooo
0o A
1) = Uli) = [7)Uys (3.29)
(1), 1k)") = Us;Un(G11) = U Uidj = i (3.30)
0o
ut=u-! (3.31)

gogobobooogoboodo q.e.d.
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5. IO OUOOO0DDUO0OOn0O0O0O0O0OOD v, 0000000000
Vtv:kavk (3.32)
oo dn00d0ooooooooooooooo

J

0000000000000 RR=R'O0000D0ODO0ODODOODOODOODOOD
0000000 10000000000000000 (special orthogonal group) O
00000 (rotational group) DO ODOOOOOOO(N),SOn)0OO0O

6.DDDDDDDDDDDDDDDDDDD%n(n—l)DDDDDDDDDDDDD
goobobooooobobodao

0000000000000 0000000000000000000000000
0000000000000000000000000000000000000000
0000000000000 000000000000000000000000000
Doooog

(W,v) = ulé07 — UNU =1 (3.34)

00004, 000000000000000O0O0O0O00000O0O0O0O0OOOO0OO0OO
gbobooooooboboooobboboooon

viny = AlnA=ny (3.35)
goooooood
0 1
n=|-10 0... (3.36)
0 0O01---

0000000000000 (Simplectic group)d 00000
n = diag(—1,1,1,1) (3.37)

ooooooooooooo?

‘0000000000GL(n,C/R),SL(n, C/R), SU(n),SO(n),Sp(2n) 000000
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/DDDDDDD ™~

gbodbbogbobboobbooobboobobbooobboodobboo
gbobouoogobboooobobbodgo

2y = a'la;) (3.38)
D000000000000000000000000000 |e)=1)0000
) = 2'|i) (3.39)
D0000000000000 V*0000000000000000
V'@« Vali) — (ij)=20d€C (3.40)
000000000 |
x' = (i|z) (3.41)
D000o000oooo
D iyl =1 (3.42)
ooooo
)

3.3 UUOO0OO

ap
N000000000GOOVOOOOOOOOO00O00000000000000
000000000000 GOOO ¢0000dxd000 D(g) 000000000
noo
D(gig;) = D(g:)D(g;) . D(g7")=D""(g), D(e)=1 (3.43)

(000)0DOooOooOoOOoOooooooooooo

d0 0000000 VOOOOOOO0OO0OoOoOooogog M(C,a)
OOo0o0b GOoboobobooooobooboboobooboo

D: G — M(C,d : g+ D) (3.44)

00 GOO000000000000000D(g)000ooovo
OooboboboobdJd000bobobobooboobooobo
gbbobooodgbobbbooodobbbooaob

goddddddouooooooobobbbbobbbbbbbboooooooooo
00 (trivial representation) 0 0 0 0 0000000000000 O0O0O0OOOOOOO
O (fathful representation) 0 O O O


file:z:/job/����/�Q�_/finiteGP.dvi
file:z:/job/����/�Q�_/finiteGP.dvi#finiteGP
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3.3.1 000oOooobOodg

googobodbobooboobbooboboboooobobbooboboooboon
ODo0O00000b000DeeGO g eGOOOODO

Adyg; = agia™ = g; D (a) (3.45)
000000000000000000000 (Adjoint representation) 00 OO

00 000000000 DAMOD000000000000000D0O0O0000000
gboboooob

3.4 UOJUoobooggd

Ooboo0o0d G, 00bo0boooboooboobboooobobooboooboboooboooogo
gooboboooobbbuoooobobobooooboboooon

341 000C,00000

OOodd, 000boboooooooooboobooooobooooboooooogoo
googgbobogbbggbbodbobogbboobbboobbuoouonoboon
gooboogd

OO0Oob00o0dD G, ODOObOOoOoboOoboboooooboooD G, bobobuoobonog
gbobuoooobbbouoooobbbooooboboooon

€:<1 2 3) C:<1 2 3) 0_1:(1 2
123) 7 231) 7 31
123 123 12

012(1 3 2> 02:(3 2 1) 03:(2 1
000000000.0000C,0800000000000000
000000000 G, 00000003000000000000001)0000

gbouodboboobbodgbuoobbbodboobboobodoboobbooboon
gboooooggon

3
2
; ) (3.46)

gliy =19(i)) = > /) D(9);s (3.47)
C,O0ODDOD DO0ODODDODDOD

100 00 1 010
D)= 01 0] D)= 100 ] Deg)=[00 1
001 010 100
100 00 1 010

Dioy))=1 0 0 1| D()=|01 0] D)= 100 (3.48)
010 100 001

gbooodgg
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00000000000000 00000
(€3[1), 5[2), &5[3)) = (ea(1)), |es(2)), |es(3))) = (12),13) 1)) (3.49)

000000000
(18 Dis(cs), [i) Dia(ca), |1) Dis(cs)) = (12),13), 1)) - (3.50)

oooooo. ooon
lc3(7)) = Z |j>Dji(C3) (3.51)

0O
1. G5, 000000 10000000 0D0ODOODOOOOODOoDObDOobObOObOO

2. 0000000000000 00000OODOODODOOOOOOOO(B5)OO
gboobuooboobooboon

. ubobboobooobooc, oogboobobobooooooooobDono

D(91>D(92):D(9192) (3-52)
Oo000ooOo0ooooooooobooooo
4. 5, 000000000000O0C00O0O0O0O0O0

0
.00 ooooooooo
2. 0Jdoduouoobobobbbbouooooog
. 0b0boooonbon
4. 000O0O0O0OOODOOO
{g:} = (e,c3,¢51, 01, 09,03) (3.53)

agoog
Ad.g; = g;jDji(a) (3.54)

gobdoooooooooodon
,D(631)[ ] (3.55)

D(e) =16, D(c3) = (
D(o1) = ( ] » D(o2) = [ J » D(o3) = [ ] (3.56)

[eNeoNeNoNaNty
[=NoNeNol o)
[=NeNeN SeNe]
[=R o NeNoleNa]
= =NeNoN=}
[=Nol HoNeNe)
N~——
[=NeReNoRaNy
[eNoNeNoi o)
[=NeoNei e
HOOo OO0
COoOROOO
(=N NeNoNeNo)

[eNeoNeNeNeN
oooOrHOO
[=NeNoRal e
[Nl NoNoNo]
_HOOOOO
o OO0OO0O0
[=NeNeNeNeN
[=NeNel el
[eleNoRol ol
HOOOOO
=N ool N
oo OO
ocooCcooOor
ocoo~ROO
[=NeoNeNeN N
=N NeloNeNe)
oo OOO
_HOOOOO
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3.4.2 UO00O0OO0ODOOOO

Oobo0oc,0000b00o00boooobooboboooooboooobooobogoD
gbbooodgbobobooaoobbodan

1. 00000000Cs, 0000000
o) =
Vo) = —=
"=
DDDDDDDDDDDDDDDDD|U>DDDDDDDDDDDDDDDDD

(1) +12) +13)) (3.57)

2. 000000 vyOOOOOODDOOODODDODOODODOODOODOOODOO
1

|v1) = \/5(|3> —12)) (3.58)

1
Wﬁzvﬁﬂﬂ—ﬂ%ﬂ$) (3.59)
00

3. |v),lu1),lvey D0 000DOOOOOODODOODOOODODOOOOCODOODODOOOOO
gooobooboooboobgoroooo

lvi) = |7) Ty (3.60)
goooovYgooao
glvi) = 43Ty = |k) Drj(9) Ty = |vj)(T~'D(9)T);s (3.62)

000000000 wyoooood
110 0
T'D(@)T =1 0|* * (3.63)
0]* =

gogbbooooobobooobobuooobbboobbobooobboooobooon

0000000
DA (g) 0
—1 _ g
T 'D(g)T = ( 0 DE) () (3.64)
00000000000 DW(g)Dooooon

4. 00000 1x1(2x2) 000000000000 1000000DOOOO0O00
o0 A,000000D010000bO0bOoboboooooDooDoOooD

Yopoooao

1 0 2
e, 8

T — @ _ﬁ —? (3.61)
V3 V2 V6
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5. EO00000D0O, 000000 |v)0O |vp,)yD00O0O00OCOO0ODOOOOOO
gogooood

D(e) = ((1) (13>’ D(C3):<COSO‘ —sina> | D(c31):< cos Sina)

sinav  cos« —sina  cosa

-1 0 —cosa sino —cosa —sina
D(o1) = < 0 1 > , Dloz) = < sina  cosa > » Dios) = < —sina  cosa
(3.65)

D000a=20

6. 0000000000000 000000D00D0O00000D000O (reducible)
O00000000000000000000 (irreducible)D0O0000O0OOOO
gogoboboogoooboooooboo

7. C, 00000000 0DOO0ODOOODOOODOODOOODOD A/OFEODODODO
oobooooobooobboobooobdG,booobooboooon AaO0bog
O0A,0 C3, 0000 5000000000000 —100D0O0O01000D00O0
ERERN

8. 3000000V ={)}00V={|w)}0 Ve={|v), )} 0000000000
0000000000000 000000000000000000000000
00000000

gooo
[DDDDDDDDDVDDDDDDDDDDDDDDDDDDDDDDD ]

3.5 O0000O0DO0O
1. 000000010 2000000 DY(¢)000000 MO
Vge G : MDW(g)=DP(g)M (3.66)
O00000000D000000 (MODOOOODOODODOO0)0000000 M=0
oooo

Oo0ooooooooooveOooo. oodoM: vl 5sv@oooQ
di>d 000 IveVOUOoMv=0000Ove KeeMOOOOOO

MDWv = D@ Mv =0 (3.67)

ooooov®Woooooooo PDWvO KerMOgODOOOOOODODOOOOO
0000 KerMOOOOODOOOOOOOOOODOOOOOOODOOOO0O0OO0OOO
ooo

dy>d, 00000
MDW(g)v c V@ (3.68)
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ooo mMv®O cv@OoOoOODODOV@POOOOO0O0D0DDO0O0000000000
gooooo

d =d,000Mv #00000MDYy = MV #0. 000 MOODODOOOO
DY = M-1DOMOODOD0OD0OO0D0DO0D0NDODDOOOOOOOooooo
2. 0Ooooooo 20
Vg€ G D(g)M = MD(g) (3.69)
O000M =cl

OO0 e MOOOOOOOOOUOA=M -cEO0000O00O0OOOOOODOO
00 AD(g) =D(g)ADDDODO0O0OD ADDODO0. detA=000A=0000
M = cF.

(DDDDDDDDDDD ~

1. 0000 DeAut(V)ODODDOODODODODODDODODOODDOOODODODOODOOOO
ooooooo (o,V0oooooo  pOoooooovooooooooo

2. 0000000000000007T000000000000000000O0
ooDo0o0o0oo0
D' =TDT™' = D' ~D (3.70)

. 0gbooobooboboorooboopooobuoobobboobooDbo
g «0f

4. 0goboobobooobbooboobooboobbOoobuooboobbo
godbobboobobbobbuodoooooobobboboboooooooon
gogbobobboogobbobooooobbooogooo

S. bognbudgbuoobuobobuobuoobuooboobuoooboobao
gogobobbobuoooogbbobbodooooboboboobboooouon
gogoboboooodon

6. J0Duooobbboodbobuoooobbbouooboboboooon
. ggboobobboboboobooboobooboon
§. 0OO0DDO0O0 o,pOO00DOOOOOODOOOD

D =®,D% V=V (3.71)

‘cboobooboboobooboboooooboooboooboon
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3.6 0UU
3.6.1 OUOOgOoooOO
OO0-0b0 GoOO0O0D0O0DO0O0O0O00oobDoDobonon

o T
Z Dz(j '(9)D(9) = d—5ik5ﬂ5a5 (3.72)

Oo0dd, 000 «000.

ogoooo
M =" D(g")BD’(g) (3.73)

D0000000000000DYy)00000
D*(¢)M = ZD“gg )BD’(g ZD“gg )BD?(g99'~")D(g')

_ 3 Do BDA" D) = MD(g) (3.74)

1

g

O000D0DODDOO0O0C0D a#p0000MO0000BOO0O0O000O0O0000 Bg=100
goobooboogoo

ﬂ_ZD‘4%) 0 (3.75)
DDDa:BDDDDDDDDDDDDAJDBDDDDDDDDDDDDDDDDDDD

ﬂ_§: (971D (9) = by (3.76)

ooboobooooooobool=5000
00 =Y M= Di(9)D*g") =Y D*(e)u = o (3.77)
J 9.7 g

00
00 =c) 6 =cd (3.78)
J
D00c=446,00000000000PO0000000000000000000000
0000

3.6.2 00U

ERN
[Xa(g):H{Do‘(g)}DDD pDeOoooooog ]
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1. 000poooopbooggooggboOtrace oo
T{D"(aga")} = T{D*(a) D*()D°(a) '} = T{D(g)}.  (3.79)
gopooooooooooggno
2. 00000000000 oo00o0roo0Gooog

3.72)0 0000000000 class function0O0 OO0 0classO [¢] 00000 ¢
goooobobbobboooooooooo

D ™ (e)x” (i) = réag (3.81)
i=1

. 0gboobobooboboooboboobooboboobobboboon
ggbobbooogbbboooobbbuooouobbboooon

S @x@) = 3 e (@) (@) = e (3.82)
g i=1 BER

r, 00000000, 00000000000000O0 D®WOOOO0

3.6.3 (5,000
0000000 G, 0000000 ¢, 00000000000000000000

1. dgogog A1DDDDDDDDDDDDDDDDDDD9603UDDDD11DDD
A (g)DDO0O: . )
X (g) =T{D™"(g9)} =1 (3.83)

ggo.

2. 000000oooobboobbooooooobboobboboo1bbod -1040a
000000000000y 000000000000000000

x*(e) =1,x"(c3) = 1, x2(o3) = —1 (3.84)
0ooo
3. 000000000000 D000 yP0
x"(e) = 2,x"(es) = =1, x"(0:) = 0 (3.85)

goog
U0poo0o0o0o0O001x100000000000000000000000000000
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O00000000000000000000000000000000000000
O000000000000000xE0 y%0

> nle)x"(e)x™ () =1-(2-1) +2(=1-1) +3(0- =1) =0 (3.86)
oo ouooooouoooooon
XP(e) =3, xF(e3) = 0,xP(0;) = 1 (3.87)

00000000000
~Cs, 00000 N

C5, 00000000000 4000000000 4020000 EDDOOO0OO
000000030000000000
AOO [x"(9) x™(9) x*(g) [ xP()
¢ 1 1 2 3
¢ 1 1 -1 0
ezt 1 1 —~1 0 (3.88)
01 1 -1 0 1
o 1 -1 0 1
o3 1 -1 0 1
N J

OO0 Obhoobobboboobooboobon.
1. 0ooboooboooobgoon
2. 000000o00bbobobobobobobooooboobobobobobo

00
l. 0dododouooouoouoouooo
x2(e) = 6, x(c3) = x*(c3) =3, x(0y) =2 (3.89)
2. (5, 000000000000 000000O0OOOODOO
YA =3 M 121\ F (3.90)

gog
Adjoint rep. = (3 x Ay) @ Ao @ F (3.91)
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3.6.4 UU0OOOOOOOO0OO0

DDDDDDDDDDDDXQW@):6DDDDDDDDDX@DDDDDDDDD
3?+2.0+3-1’2=12=2.-7000,00000000000000x®0000000
0000000 20000000000000000000000

D000000 D(g) =@¢*D*(¢)0000000000000000000 x(g9) =
Y ¢*x*(¢)00000000000¢* 000 DO0O0O0OOOOO 000000000
000000000000000000000000

gboboboogobood
0000 DOODDO x(¢p)OOOODODODODDOO r000O00OO0O00000O0OO 00O

000000
> @l =r) (g% (3.92)

[0}

SIx@P =YD @ =D "X (9)x*(9) =7 _¢°¢"das  (3.93)
g g [e? g af a,B
000000000000000020

3.7 0OO0O4
gboooooboboaogobon

1. 00ooo
R _
D (9) = 6(gi99; ") (3.94)
00000000006 =10000000

2. 0000000
[DW(g) DI ()i = 6(9:99 )6 (9rg'g; ") (3.95)
k

000000000000000 g0
=99 , g =49 (3.96)
000000000000000
9i99'9; " = e (3.97)
0D0000000000000000000000000000
[D(9)D(9')]i; = D(99')i (3.98)

ggoooo

20000000cs;, 0000000 Za(q“)Q:ZDDDDDDD ¢ 0000000000 bO000O0O
0000000000000000000000000000000000 22=12x4
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3.

3.8

1.

2.

goobooooogad

slalalalalals
X (g) = r6(g) (3.99)
000

000000000000 00000000¢ 00000 D*00000000
D =% "¢*D (3.101)

ggbobbooodgbobboodo

0 = S AP (9) = x(6) = (3.102)

DDDDDDDDD{DDDDDDDDDDDDDDDDDDDDDDDDDD@

0000000000000000
T{DW} = d"T{DW} = x"F(g) = d*x*(9) (3.103)

Uidbg=cbO0O0000O0ODOOOOO

oboooobooobo
gbogobgobobboboob-0ob0o0oboon

r=>Y d; (3.104)

000 Cyv,d,=2,1,1 000 r=4+14+1=60000

ooooboognd

Theorem U0 O0OO0O0O0OO :0GUOOOxy*ODODO G,OO0O000 gOOODO

DX (@)X (es) = by (3.105)

bbb 0b00b000obbbuoooobbbogobon
oo Ci:ZCkae[Ci]CiD CZDDDDD

gCi = Ciyg (3.106)
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DOooOO00D000OoO
D) (g)D')(C;) = D'(C;) D) (g) (3.107)

oooo
D@(C;) = Mg, (3.108)

ooo, 000l geC,U0O0ooooooooooon
X“(C;) = rix“(¢;) = Ady,  where ¢; € C;,d, = Tr{1,4,} (3.109)

000 ANODOOOOOD (ooooo

D(C;) =:£;ix“(cﬁlda (3.110)
00000000000
D¥(Ci)D*(Cy) = Y cl;D*(Cy) (3.111)
000 . )
#Xa(ci)xa(cj) => cfjd—k *(ck) (3.112)

k
gogboobuoggobobod

riry > x(e)x(e;) = D D cirldax®(en) = Y direx™(er) = crax(e) = rridy;
« a k k

(3.113)
0000000000 Y, dx*=x®0000000000000000000
yP(e)=100000000000000000000000000
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(a) 000000000
ZHXQ(Q‘)X’B(C@‘) = 1dap (3.114)

0000x*(¢)0n, 000000000 0000000
(by 00ODDDOOOO i
D oXEN () = -0 (3.115)
0000x*(¢)0n., 000000000 0000000
(¢ 0OO0On.=n0000000000000000

(d) 0D0D0OC0O0OO000000OD0ODOOOOO0O0U0UOOooDoOoOoOoOOoOOQ

i: d2=r (3.116)
N . J

3.9 Joobobboooooooobbbd

gboogbobuodbbooboougbbodgbobooboobbuoobbooooon
googbbogbogbbogboobbboobbuobboobooobboobn
gooboooobbbooooobobboogoooobod

1. 000

bbb o,f0a 0b,0000000d,0dg000000000O0O0ODOO
HEN

gai=>Y a;D*(g); . gbr=Y a;D’(g) (3.117)
J l

ggbbooogoobbooobbooobbbooobbuooobbboooobon
d=d,dsg 000000000000

d(a;by) = (ga;gby) = (a;b))D*(9);:D" (9)ik (3.118)

2. 0b0uboooubuoouoooobdboboboobobobobobub erd
ERERN

ey = abjla,i; 8,7, k) (3.119)
ij

ggbbobuooooboooobbobooan
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3.0000 )
> €7 kla,i; B,j) = ab;
Fk

bbb U00oobbbooobbboooobbbuooono
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(3.120)



